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QUESTION 1

Refer to the exhibit.
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CEL1 is the gateway router into the provider network via PE1. A network operator must inject a default route into OSPF
area 0. All devices inside area 0 must be able to reach PE1. Which configuration achieves this goal?

A $cE1
router ospf 1
default-information originate always

B. $cE1
ip route 0.0.0.0 0.0.0.0 GigabitEthernet(/2 10.0.0.14
!
router ospf 1
redistribute static

C. #cE1l

ip route 0.0.0.0 0.0.0.0 GigabitEthernet(/2 10.0.0.14
!

router ospf 1
default-information originate

D. $cE1

ip route 0.0.0.0 0.0.0.0 GigabitEthernet(/2 10.0.0.14
!

router ospf 1
redistribute static subnets
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

Reference: https://www.cisco.com/c/en/us/support/docs/ip/open-shortest-path-first-ospf/47868-ospfdb9.html

QUESTION 2

Refer to the exhibit.
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The green policy is designed with low delay, and the pink policy is designed with low cost. What is the next hop for node
A on its way to node D, with the objective of achieving a low delay?

A.192.168.3.2

B. 192.168.1.6
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C. 192.168.3.6
D. 192. 168.1.2

Correct Answer: D

QUESTION 3

Refer to the exhibit.
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R3#show run | section router ospf F2#show run | section router bgp
router ocapf 1 router bgp 200
log-adjacency-changes no synchronization
natwork 1.1.1.1 0.0.0.0 area O bqp log-neighbor-changes
network 2.2.2.2 0.0.0.0 area O redistribute ospf 1
network 192.168.2.0 0.0.0.255 neighbor 192.168.1.1 remots-as 65001
area 0 neighbor 192.168.2.3 remote-az 200
naighbor 192.168.2.3 next-hop-self
ne auto-su=mary
R1# dabug ip bgp ipwvd unicast updatas
“BGF(0): 192.168.1.2 rev UFDATE about 1.1.1.1/32 - withdrawn”

Users connected to an application on 1.1.1.1 via routers CE1 and CE2 are complaining of frequent disconnections.
While troubleshooting the issue, a network engineer with an employee ID: 1234:56:789 determined that the application
itself is working normally, but the link connected to the 1.1.1.1 application is flapping. The users on CE1 and CE2 are
accessing applications on 2.2.2.2 without difficulty. Which action resolves the issue?

A. Enable passive interface on the router R3 Loopback1 interface.

B. Disable split horizon on router R2.

C. Enable route dampening on routers R1 and R2.

D. Redistribute CE1 routes on router R2.

Correct Answer: C

QUESTION 4
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Which two methods represent IPv6 tunneling implementations? (Choose two.)
A. IPv6 over GRE tunneling

B. manually configured tunnels

C. automatic tunnels

D. 6to4 tunneling

E. IPv6 over an IPv4 tunnel over MPLS

Correct Answer: BC

QUESTION 5

Refer to the exhibit.

Rlashow run | =
routear|interface

i2v show run router iasis
router isis Core

interfacs CigahitEtharnet(/2
description to R2

ip address 10.10.1.1
255.255.255.0

ip router isis Core

1

interface GigabitEthernat0/3
description to Branch

ip address 172.16.10.1
255.255.255.0

ip router isis

!

routsr isis Core

nat 4% 0123 0001 0001 _0001.00
is-type level-l
log=-adjacency-changes

is-type level-1

net 49.0123.0002.0002.0002.00
log adjacency changes
interface GigabitEthernet0/1
address-family ipvd unicast

!

'

irterface GigabitEthernat0/3
address-family ipvd unicast
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Users at the branch office on R1 reported issue with an application at the home office on R4. While troubleshooting the
issue, a network engineer determined that:

1.
The branch-office users can connect to the home office.
2.

The IS-IS adjacencies between R1 and R2 and R1 and the branch office are up.
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3.
Traffic from R1 to the R2 10.20.1.0/24 network is moving normally.
4,

The application at the home office is experiencing packet drops on the connection to the Branch, and R3 cannot reach
the R1 172.16.10.0/24 network.

Which action resolves the issues?

A. Redistribute static connected routes in 1S-IS on router RI.

B. Configure the IS-IS core instance on the RI GigabitEthernet0/3 interface.
C. Redistribute static connected routes in I1S-IS on router RA4.

D. Configure the IS-IS core instance on the R2 GigabitEthernet0/1 interface.

Correct Answer: B
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